
 
定期テスト対策ドリル ◆ 中 3 数学　　　　　　2．乗法公式【ポイント解説】 

 

 

  乗法公式 

       

        

 

 

 

 

１ 次の計算をしなさい。 
 

 (1)               (2)  

 

 

 (3)               (4)  

 

     

 (5)               (6)   

 

 

  (7) 

 

 

 

２ 次の計算をしなさい。 
 

(1)               (2)  

 

 

 (3)               (4)  

 

     

 (5)               (6)   

 

 

  (7)                            (8)  

 

  

 (9)              (10)   
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(xP8)(xP1)

(xP4y)(xOy)

(xP7y)(xP6y) (4xP2)(4xP5)

(9aP2b)(9aO5b)

(xO4) 2 (xP6) 2

(xO
1
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) 2 (xP
1
3

) 2

(4xP3) 2(P
1
2

xO1) 2

(2aO3) 2 (P7xOy) 2

(2xP0.1) 2 (P0.1Pa) 2

( xOa )( xOb )x x 2O( aOb )xOab

( aOb ) 2 x a2O2abOb 2 , ( aPb ) 2 x a2P2abOb 2

( aOb )( aPb )x a2P b 2

(xO4)(xP2)

(xO2)(xO5)
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３ 次の計算をしなさい。 
 

 (1)               (2)       

 

 

 (3)               (4)  

 

 

 (5)               (6)  

    

 

４ 次の計算をしなさい。 
 

 (1)                    (2)  

 

 

  (3)                                 (4)  

 

 

  (5)                             (6)  
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(4)　x2P3xyP4y 2(3)　x2O2xP8(2)　x2P9xO8(1)　x2O7xO10

(5)　x2P13xyO42y 2 (6)　16x2P28xO10 (7)　81a 2O27abP10b 2

(1)　x2O8xO16 (2)　x2P12xO36 (3)　x 2O
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x 2PxO1 (6)　16x2P24xO9 (7)　4a 2O12aO9 (8)　49x2P14xyOy 2

(9)　4x2P0.4xO0.01 (10)　a 2O0.2aO0.01

(6)　x 4P16

(1)　x 2P64 (2)　0.25x2P0.04 (3)　
1
4
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25
y 2

(4)　36a 2P25b 2 (5)　Px 2Oy 2

(1)　5xO2 (3)　4xO10(2)　12x

(4)　x2O2xyOy 2P6xP6yO9

(5)　a 2O2abOb 2O5aO5bO6

(6)　a 2P2abOb 2PaObP6

(xP8)(xO8) (0.5xP0.2)(0.5xO0.2)
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y) (6aP5b)(5bO6a)

(PxPy)(xPy) (xP2)(xO2)(x2O4)

(xP2)(xO4)P(xO2)(xP5) (xO3) 2P(xP3) 2

(2xO1) 2P(2xO3)(2xP3) (xOyP3) 2

(aObO2)(aObO3) (aPbO2)(aPbP3)


